BT TRIA O - HEHHEE X T EFEJ'ZiGEOSH KIRHE
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BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 37,778 87,146 41,682 45,464
RIRET1T 5 13 7 6
RIRET2T 25 54 26 28
RIRET3T 136 446 226 220
RIRET4T 388 999 485 514
B 554 1,512 744 768
REH 2,624 6,257 2,929 3,328
L&A 4,178 9,640 4,580 5,060
5E 2,478 6,007 2,910 3,097
B AN 1,234 2,856 1,350 1,506
BERT 1,128 1,810 857 953
BER2T 750 1,467 690 777
BHERST 396 915 460 455
g 2,274 4,192 2,007 2,185
BARE 254 661 331 330
= 2,177 5,254 2,480 2,774
hERE 597 1,434 657 777
e 2,327 5,208 2,517 2,691
25 L ET 2,255 5,288 2,525 2,763
B &AL BT 69 155 62 93
HEFILET1T 590 1,311 619 692
HEFILET2T 594 1,368 652 716
HEZFILAT3T 570 1,363 664 699
g 1,823 4,197 1,997 2,200
B & it B Fr ET 659 1,627 799 828
BHEREBET1T 597 1,251 599 652
BHERERET2T 756 1,791 870 921
BHERERETST 772 1,695 774 921
HEFMHET4T 455 1,014 496 518
HEHFMHETST 793 1,678 803 875
HEHFHET6T 855 2,019 971 1,048
HEFRET7T 849 1,997 966 1,031
HERERETST 56 167 77 90
£t| 5133 11,612 5,556 6,056
HEF R FET 1,779 3,913 1,906 2,007
S|EFET1T 563 1,520 758 762
S|EFET2T 757 1,838 881 957
S|EFET3 T 732 1,494 711 783
g 2,052 4,852 2,350 2,502
ERE1T 553 1,346 652 694
EIRET2T 329 830 408 422
EREIST 467 1,341 651 690
EIRETAT 672 1,563 734 829
EIZEIST 476 981 493 488
g 2,497 6,061 2,938 3,123
MEH 2,776 6,355 3,004 3,351
J\THET1T 26 29 9 20
J\THET2T 24 62 31 31
J\THEI3T 57 129 62 67
B 107 220 102 118
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